Intermediate Algebra Ch 1 & 2 Review August 28, 2013

You have a Test this Friday on Chapters 1 & 2.

Topics: set notation, number sets, properties of numbers, distributive
property, order of operations, combining like terms, evaluating
expressions, writing numerical expressions from verbal expressions,
solving linear equations, solving linear inequalities and compound

inequalities, setting up and solving word problems in one variable
(I copied the above list from http://www.asms.net/brewer/intermediatealgebrasyllabus.html)

| have office hours today (Wednesday) at 3:45 (after 8th period).

Go to the Math Lab.
Wednesday, Thursday 7-9pm in S201.

mastery in all topics from Ch 1 and 2 on Khan Academy
before you take the test on Friday.

I. Translateinto a variable expression, but do not simplify.

1. -halfthe total of t ty-two ti b dsi Q
Oni a etotal of twenty-twotimesa numberand six 2? x+
2 (22X "Ha) - 2

2. The sum of two numbersis 33. Using x to represent the larger of the two numbers, translate “the difference between
<six more thantwice the larger numberphngfthree more than the smallernumber”™\nto an expression with a single
\__-\N

variable. X 33 _)<

bt+t2 X — Q/j + A3-X
II. Fillin the blank with one of the following three terms: identity, contradiction, conditional

3. An equation thatis only true for some instances of the variable iscalled

L]
.
4. An equation thatistrue for allinstances of the variableis called
° .
5. An equation thatis not true for anyinstancesof the variable iscalled O/\
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IIl. Show all of your work for ONE of the followingword problems. Please circle/boxyour final answer. ’)/ 25

6. The sum of 2 consecutive odd numbersis 128. Whatis the second numberin thissequence? %

7. Acoffee blend was made from 20 pounds of coffee that costs $6.00 per pound and 80 poundsof coﬁ’ee\%Aﬁsts
$2.30 per pound. Find the cost per pound of the coffee blend.

oo X, X2 o(2)+2.3(30) 100X

X+ X4+2=(28 | 20 + :
o =120 (%4 = |00

X=b> 204 = I@X

A 20 (  ©(29)
3220 g0 22 75(%0)

nybr (oo A 100K

7

15. Simplify. —|—16| — |24
o -29

E
T b
Q)
—

16. Simplify. —|2+

2 (2913
S |24 5
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17. Evaluate the variable expression whena = 2,b = 3,c = —1,and d = —4.

el = <3 4) ] 2D 4D
2(3) (1)

aefexal < 2|
b )

] 2 | Z D
=
18. Translate into a variable expression. Do not simplify.

the difference betwee(the square of a number nd‘the total of twelve and three times the number

—3d +

2

x> )— 2«—3@
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19. Solve forx. 5 — 6[2x @3)] =8 —x
5-b|2%xZx-¢ [= 8= X
5-6[-¢1-g-X
5+36 =&-X

Tl =8-X
X=§-4 | 4]-3=-X

R s

20.Solveforx. 2[3(x+4) —2(x+ 1)] =5x+ 3(1 — x)

02[3;<+12—2)<~2j = Bx+ 2 -3X
QZXHO}: 2X 1+
R+ 20X+ S

20=3 4

/LO\YO /U')'Toq

o
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21. Find three consecutive even integers such that twice the sum of the first and third integers is twenty
more than the second integer.

X 5%+2, 743"

QZ(+ X4 4)= R04%:2
2<2><+<r> =22+ X
Tx+8=c2+tX -

SX:M‘ 56"%

X = 1f W
>

22. Fifty liters of pure maple syrup that costs $10 per liter are mixed with imitation maple syrup that
costs $4 per liter. How much imitation maple syrup is needed to mﬁke a mixture that costs S5 per liter?

(
$0. | 1O | 50 | 10(s9)

e | D \7{)+/< \5(504_)9
0(50) +4x = 5(S0+ >§




Intermediate Algebra Ch 1 & 2 Review August 28, 2013

23. Two airplanes start from the same point and fly in opposite directions. The first plane is flying 50
mph slower than the second plane. In 4 h, the planes are 1800 mi apart. Find the rate of each plane.

P\ane rade x %'(me = d"s-l—aacej
1 ¥, 4 t( =)
2 (x¢s0) 4 4 X

’ )ﬁ:""i

= Ar(X—VJ@M\)(: (900
4x—2c0 + 4x= 80
S X —2000

y=2000  §
§ A
plane 2 9oes 2‘50,»701/\

P\ou\c 1_30@3 200 MT’)\

20

S

&)

24. How many quarts of water must be added to 5 gt of an 80% antifreeze solution to make a 50%
antifreeze solution?

5 71‘,5 .50 5(@
% O o)

5+X 1.50 (6@(6)
%@:@%@

+=254+05X
4‘2‘5 :OC:DX
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25. Solve. Write the solution set in interval notation. 3x+7 <10 or 2x—1>5

X3 2xz(,
X)) x=23
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7x+2<)2@ Kl 3

Fx <O

LM =3-54=105

—

b, 10,25,% ,20

2227 25° 5§ ° 222 29
&2 .2 EARS
1-2.9

222?_ LQM ZZ’ZZ SS +00
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The sum # Awo )'(\\L(ajejs is 9L,
2 Hees ppe infeges S (pless
Ahan e A ik
lWhat are the }f\{‘%‘efs -
< . B \
> ?(o X// NS

SX:C?G—_X—'Q) (p)(:”IO

o) (%\x>: X—4

Thg sumot ,
ffm&& consecut Ve odd ',rr}fgjs IS

—29 | Whakis 4he
argest of 4he hcee 7

Xy X+2 ) X+F~ 3)(: 51
XKt XA2+X+ 4= -29 ] X?’Q%?

3IX1==-2S|
3X=-293/- np SHa

—
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fam 15 s s Hun €l zabeth.
Cliz Lx%ﬂ&&sw e i L(’:k e=- C\ZM\S

10 W rsgo\lx ?I/WW\S\(& S \U\N\ e+5 \jgmj
!

m&« s 5\,@9\%‘(\ aés— ‘\lg
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ROQZN &

The sum of three Cansecutive
0dd ',/\Jrejer‘ S IS QCI ,
ﬁr\& ’H’L( Zhd ONe .

X %12,

—1-3 75 4 ?(7
XAXHF X+ T =

1,3 2x+6=99
3xz=9

X;3,3,\?_:—

11
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M 20 o | Py | M e
6\)(0% e, %02: ,(O(8>
T | O\ X | S
22 .@5\%*% 03($0)
'!O<8S+Oi-03(ﬁa‘/‘)9
O8=0.24 +.0> X

026 ~=.03x
Q>

Sk oYX
3pe 3

2t
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